

Omyedem Udoaka
15/10/2020
Medical Engineering

1) If $y = e^{x^2+x}$, show that $y'' = y'(2x+1) + 2y$

soln
 $y = e^{x^2+x}$
 $\frac{dy}{dx} = y'$

let $y = e^u$, $\frac{dy}{dx} = y' = \frac{dy}{du} \cdot \frac{du}{dx}$

$$\frac{dy}{dx} = y' = e^u \cdot 2x+1$$

$$y' = (2x+1)e^u$$

$$y' = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = y''$$

$$y' = (2x+1)e^{x^2+x}$$

Using Product Rule

let $u = 2x+1$

$$v = e^{x^2+x}$$

$$\frac{du}{dx} = 2$$

$$\frac{dv}{dx} = 2x+1 e^{x^2+x}$$

$$\therefore \frac{d^2y}{dx^2} = y'' = v \frac{du}{dx} + u \frac{dv}{dx}$$

$$= 2(e^{x^2+x}) + 2x+1(2x+1)e^{x^2+x}$$

Since $y = e^{x^2+x}$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = 2(y) + (2x+1)(y')$$

$$y'' = 2y + (2x+1)y'$$

$$y'' = y'(2x+1) + 2y$$

b) Prove that $y^{(n+2)} = (2n+1)y^{(n+1)} + 2(n+1)y^n$

$$y'' = y'(2x+1) + 2y$$

$$y' = y'(2x+1) - 2y = 0$$

Using Leibnitz Theorem

i) y''

$$u = y'' \quad v = 1$$

$$u^n = y^{n+1} \quad v' = 0$$

$$= u^n v + n u^{n-1} v'$$

$$= y^{n+2} (1) + n (y^{n+1}) (0)$$

$$= y^{n+2}$$

ii) $-y' (2x+1)$

$$u = y'$$

$$v = -(2x+1)$$

$$u^n = y^{n+1}$$

$$v' = -2$$

$$v^n = 0$$

$$= u^n v + n u^{n-1} v' + n(n-1) u^{n-2} v''$$

$$= -y^{n+1} (2x+1) + n (y^n) (-2)$$

$$= -(2x+1) y^{n+1} - 2n y^n$$

iii) $-Zy$

$$u = y$$

$$v = -2$$

$$u^n = y^n$$

$$v' = 0$$

$$= u^n v + n u^{n-1} v'$$

$$= -2y^n$$

$$\therefore y^{n+2} = -(2x+1) y^{n+1} - 2n y^n - 2y^n = 0$$

$$y^{n+2} = (2x+1) y^{n+1} + 2n y^n + 2y^n$$

$$y^{n+2} = (2x+1) y^{n+1} + 2y^n (n+1)$$

$$y^{n+2} = (2x+1) y^{n+1} + 2(n+1) y^n$$

2) Using the Leibnitz theorem prove that

determine $y = x^3 e^{4x}$
 $y^{(5)}$

$$v = x^3$$

$$v' = 3x^2$$

$$v'' = 6x$$

$$v''' = 6$$

$$v^{(4)} = 0$$

$$v^{(5)} = 0$$

$$u = e^{4x}$$

$$u' = 4e^{4x}$$

$$u'' = 16e^{4x}$$

$$u^{(3)} = 64e^{4x}$$

$$u^{(4)} = 256e^{4x}$$

$$u^{(5)} = 1024e^{4x}$$

$$y^5 = u^5 v + n u^4 v' + \frac{n(n-1)}{2!} u^3 v^2 + \frac{n(n-1)(n-2)}{3!} u^2 v^3 + \frac{n(n-1)(n-2)(n-3)}{4!} u v^4 + \frac{n(n-1)(n-2)(n-3)(n-4)}{5!} u v^5$$

$$y^5 = [1024 e^{4x} (x^3)] + [5(256 e^{4x}) 3x^2] + \left[\frac{5 \times 4}{2} \times 64 e^{4x} \times 6x \right] + \left[\frac{5 \times 4 \times 3}{3 \times 2} \times 16 e^{4x} \times 6 \right] + 0$$

$$y^5 = 1024 e^{4x} x^3 + 1280 e^{4x} (3x^2) + 640 e^{4x} (6x) + 1600 e^{4x} (6)$$

$$y^5 = e^{4x} (1024x^3 + 3840x^2 + 3840x + 9600)$$

i) $\frac{x^2 d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

$$x^2 y'' + x y' + y = 0$$

ii) $x^2 y''$

$$u = y''$$

$$u^n = y^{n+2}$$

$$v = x^2$$

$$v' = 2x$$

$$v'' = 2$$

$$v''' = 0$$

$$y^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} u^{n-3} v''' + \dots$$

$$y^n = y^{n+2} x^2 + n y^{n+1} (2x) + \frac{n(n-1)}{2!} y^n (2) + 0$$

$$y^n = y^{n+2} x^2 + 2x n y^{n+1} + n(n-1) y^n$$

iii) $x y'$

$$u = y'$$

$$u^n = y^{n+1}$$

$$v = x$$

$$v' = 1$$

$$v'' = 0$$

$$y^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \dots$$

$$y^n = y^{n+1} x + n y^n (1) + 0$$

$$y^n = x y^{n+1} = n y^n$$

3) y

$$u = y$$

$$v = 1$$

$$u^2 = y^2$$

$$v' = 0$$

$$y^n = u^n v + n u^{n-1} v'$$
$$= y^n (1) + n (y^{n-1}) (0)$$

$$y^n = y^{n+2} x^2 + n y^{n+1} 2x + (n(n-1)) y^n + x y^{n+1} + n y^n + y^n$$

$$y^n = x^2 (y^{n+2}) + 2x n (y^{n+1}) + (n^2 - n) y^n + x (y^{n+1}) + n y^2 + y^n$$

$$y^n = (n^2 - n + n + 1) y^n + (2x n + x) y^{n+1} + x^2 (y^{n+2})$$

$$0 = x^2 (y^{n+2}) + (2x n + x) y^{n+1} + (n^2 + 1) y^n$$

$$0 = x^2 y^{n+2} + (2n+1) x y^{n+1} + (n^2+1) y^n$$

$$x^2 y^{n+2} + (2n+1) x y^{n+1} + (n^2+1) y^n = 0$$